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Marking Scheme

Gradients of a straight lines and Coordinates
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Q19.
 
For all questions, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
[image: ]
 
Q20.
 
[image: ]

Q21.
 
[image: ]
 
Q22.

 
[image: ]


Q23.

 [image: ]



Q24.

[image: ]

Q25.

 [image: ]



Q26.

[image: ]


Q27.

[image: ]




Q28.
 
[image: ]
 
Q29.
 
[image: ]
 


Q30.
 
[image: ]
 




Q31.
 
[image: ]
 
Q32.
 
[image: ]
 
Q33.
 
[image: ]
Q34.

[image: ]


Q35.
 
[bookmark: _GoBack][image: ]
 


		Produced by Mr Adegboro
image5.jpeg
B1

For at least 2 correct
points stated (may be
in a table) or may be
shown in working eg
3x2-5=1

OR

for a line drawn with
a positive gradient
through (0. —5) but
not a line joining (0.
—5) and (3. 0)

OR

a line with gradient 3

Total 4 marks
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‘Working Answer Mark Notes
(-2,7)(-1, | corrcctgraph | 3 B3 | For a correct line between x =
4. 1) —2andx=3
€L-2)@,
)G9 If not B3 then B2 for

a correct straight line segment

through at least 3 of

(2.7 (-1,4) (0, 1) (1,~2)
2,75)(3,-8)

OR for all of (-2, 7) (-1, 4) (0,

1) (1,-2) 2, =5) (3,-8)plotted

but not joined

OR for a line drawn with a

negative gradient through (0,1)

and clear intention to use a

gradient of -3

If not B2 then B1 for

at least 2 correct points stated
or plotted OR

for a line drawn with a
negative gradient through (0,
1) OR

a line with gradient -3

Total 3 marks
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Question(Working Answer Mark Notes
Gl T e
(6] T et
(c) 1 BL
() Pomtsat (=3,0) (4,0)(2,—3)(~ 2 |82 (Biforany2or3 points correc)

Total 5 ma

ks
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Ques ‘Working Answer Mark Notes
s Bl
Bl
Bl

Total 3 marks





image9.jpeg
Question

Working |Answer  [Mark |Notes
number
@ Q.9 1 |Blao

® 1.3 1 |Blao

© Splottedars, | 1 | Bl AcceptX in place of S or
3 thombus in comrect position

@ Tx30e M
6| 2 |Al SCBlforSto7inclusive

(but not 6) or §
© x=20e| 1 [BI

Total 6 marks
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Working Answer | Mark Notes
Tully correct ine B4 line passes
from-2£xs+2 through (-2,-5) & (2, 3)

line from-2 £x <
+2with grad 2

or yintercept(0,-
1)

3 correct points,
calculated or
plotted

2 correct points,
calculated or
plotted

B3

B2 e.g3from(-3,-7)
((-2,-5)(-1,-3)(0,-1) (1,
1)(2.3)(3,5)

B1 e.g2from(-3,-7)
((-2,-5)(-1,-3)(0,-1) (1,
1)(2.3)(3,5)

Total 4 marks
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Question| Working | Answer | Mark Notes
Number

[Q] @9 2 B1 cao

(“‘) @ -0 B1 cao

® X7, A 2 M Allow 2 mm

2 Condone omission of

label

(0] rectangle dravin AL ep on ML

© 2] 1 BL

(d) G2 2 B2 B1 for3 B for2

Total 7 marks
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‘Question ‘Working Answer | Mark Notes
(.2) 1 Bl
= | 1 BT
) trapezium 1 Bl
d) 64 1 Bl Allow 6.3 to 6.5 inclusive.
27477764 2 | Mi__64 denotes fi rom (@)
194 Al fifiom (@)
® 1@+ or 2 ML
2x4+3x5x4 or
Tx4-1x5x4 o
8+10
18 Al cao

Total 8 marks
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‘Working

Answer

Mark

Notes

@

hexagon

BI

®)

correct pair

BI

amows on
two
parallel
sides and
no others

©

correct pair

BI

crosses on
two
perpendic
ular sides
andno
others

@

BI

@©

B forx-
coord of 2
Bl fory-
coord of 6

Total 6
marks
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Question Working Answer | Mark Notes

(@) 2, -1 1 |8t

®) 36 T [B1 Allow34to
3.8and
answers
written as
fractions in
this range eg
3%

© Dmarked | 1 |BL

at (-1, -1)

Total 3
marks
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Question ‘Working Answer Mark Notes.
©.6) 1 [BI

@)

[0) 805-845 | 1 |BI

© 1Bl _(4.1) marked on diagram

@ [05%x(+6)er05%@+9) 2 [MI fora comrect method to
find onecoordinate or
for 1 coordinate given
correctly or for (6.5, 3.5)

(3.5.65) Al cao

Total 5 marks
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Question Answer Mark Notes
@ —4.(1.2.G). | 2 |B2 for—4.2 81117
8.11.(4).17
(BIfor 3 or 4 comrect values)
®) 2 [ Ml (may fi from (a) if Bl awarded)
forat least 5 points correctly
plotted — if no plots, use points at
which graph crosses squares or
M1
Graph dravn AT for comrect graph drawn from

x=-ltox=6

Total 4 marks
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Question

Working

Answer

Mark

Notes

Alternafive mark scheme for_(2)

Tor both correct expressions
which should lead to 109 or
1.09 and 108.6 or1 086
(allow 108 or 108.7 from
correct working for 108.6 or
1.08 or 1.087 from correct
working for 1086 throughout)

(if not M3 then award M2 for
one of these expressions)

AT

‘oe eg no and 1.09 and 1.086.

®

952 =85 » 100 oe (=1120)

for a method to
find price
before discount

M2 for

2.0
85

015 “11207 or “1120"—952 0e

M1

for a correct
method to find
discount

168

AT

Total 7 marks
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Question ‘Working Answer Mark Notes
@ @[ 1 |BI
®) (-4.p| 1 [BI
© Peatagon| 1| BI
@ 64| 1 |BI Allow631065
inclusive
© 39] 1 |Bl Allow37-41 inclusive

Total

‘marks
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Question ‘Working Answer | Mark Notes
0.5 (1+6)0r05 % (4+9) 2 |MI fora cosmect method
to find one coordinate or
for 1 coordinate given
correctly or for (6.5, 3.5)
(35.6.5) Al

Total 2 marks
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Answer Mark. Notes
M1 orfor (-15. y)or (x. 7)
or (7.-15)
C15.7) 2 | Al oe

Total 2 ma
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Question Working Answer | Mark | Notes
One correct point 1 BT May appear in table
plotted or stated
2nd correct point BT May appear in table
plotted or stated
Correct line between x = -2 B2 BT for aline joining

and x=4

two correct, plotted
points

Total 4 marks
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Question Working Answer Mark Notes
@) Kite| 1 __|BI
®) 527S6mminc | 1| BI
©0 @y 1 _[BI
@ @ 1 _[BI
@ Tine of symmetry drawn | 1| BI for e drawn fom (3, 2)
10 (4.5)
(may extend beyond
these points)
© Ix05x7xZoe T or evidence of counting

or
05x4x2+0.5x4x50e

14

squares or carrect area forany

wriangle

Al
Altemative

Award B2 for 14 withno

working

ifnot B2 then B for
12 <area <16

Total 7 marks
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Working Mark Notes
@) 1 [B1
®) 1 [B1 59
@ L 4y 2 |MI  or evidence of counting
2 squares
8 Al
SC If MO then B1 for 6 < area <10)

@ D marked at (1.4) 1 Bl

Total 5 marks.
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Question [ Working Answer Mark Notes
@ T4 1 [BI
®) —3.1 1 Bl
© Trapezium | 1| BI
@0 143 T [BI _ Tolemceof 220
@@ Obfuse | 1| BI
© 18 2 TnotB2 then BI for (05 x4x3)

&@x3)or
for 0.5 x (8+4) x 3

or Bl for 16<area<18 or

18 <area =20

Tofal 7 marks
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Question Answer | Mark | Notes
@ 2 'MI for a correct method to find one
coordinate or for one coordinate correct
or for (-1.5.9)
6.-15
02n Al Accept (9. f%)
[O) ) 1 BI
© No with 1 B1 No (o) and e.g. line goes through
reason. (100, -298) or (101.3.), ~302) or

[ N
(2%, san or (3 % 100)— 302
L3

not ()2

Total 4 marks
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Q Answer | Mark Notes
(@) 54502 B1
(6) ©.,7) B1
(@) 6x5 M1 | B2for2 < area
30 AL | =31 inclusive if
counting squares
Squarecms orcm® | 3 [ B1 | B1for28 <area
(ind) | <29 031 <area

<32 if counting
squares

Total 5 marks
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Question Working Answer | Mark Notes
Number
@) (45,3) 2 [iel
(b) _[[dentifies 2 & 7 as sides B1
272 + 772 M1 27 & 7" must be
V(272 + v772) identified as sides
7.28 4 |M1dep
A1 awrt 7.28

Total 6 marks,
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Question |Working|  Answer | Mark Notes
@ Kite | 1 |BI
®) single correct 1 Bl  Line drawnat)
line and no other line.
© (6.3) 1 B1 cao
[©) Right-angle 1 Bl Accept “right”

Total 4 marks
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Question | Working | Answer | Mark Notes
Number
@ correct| 1 |81
lines
marked
®) correct| 1 |BI  Marked internally at (1,4)
angle or internally at (1,1)
marked or externally at (1,3
© (a1 1 _[B1
(d) y=1] 1 _[B1
(&) 2] B2 B2 for 112 area £13
B1 for 9< area <11 or 13<
2| 3 area<is

Blindep _accept sq cms etc

Total 7 marks
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Q Working Answer [ Mark Notes
(“2-4)(=1-1)(0, 2)(1, 5)(2, 8) | Conrect line 4 |B4 Fora cormect e between
(G.11)4, 14) between x=-2andx=4

x=—2andx=4

B3

B2

Bl

For a correct line through at
Least 3 of (-2,~4)(-1,-1)(0, 2)
(1, 5)(2, 9)3, 11)(4, 14) OR
for all of (-2.-4)(—1.-1)(0, 2)
(1, 5)2, 9B, 1), 14)
plotted but not joined

For at least 2 correct points
plotted OR for a line drawn
with a positive gradient
through (0, 2) and a clear
attempt to use a gradient of 3
For at least 2 correct points
stated (may be in a table) OR
For a line drawn with a
positive gradient through

(0, 2) OR for a line with the
correct gradient. NB a line
joining

(0,2) 1o (3, 0) scores BO

Total 4 marks
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Q Working | _Answer | Mark Notes
@® .2) 1 |BL
) 3.1 1 |BL
© frapezium, 1 | Bl any recognisable spelln
©0 acute 1 [BI anyrecognisable spelling
(1) 74 1 Bl _accept 72— 76

Total 5 marks
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Q ‘Working Answer | Mark Notes
(a) 2.-1) 1 |B1
(b) parallclogram | 1| B
© DC and 4B 1 | Bl A correct pair of
marked or 4D parallel sides
and BC
marked
&) BCD orBAD | 1 | Bl | Correct angle
marked T marked and no

other angle
marked

Total 4 marks
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Q ‘Working | Answer Mark Notes
@6 G.1) 1 |BI
i) 2.3) 1 |BI
® y= T _|BI
© 3 1 |BI

Total 4 marks
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Question Working Answer | Mark Notes
G.) T [Bl
12) ED
paraliclogram | 1| B
2 T
2k T [MI Acceptany comect
expression.
g Al
(3(2+3).30+2)) 2 [MI  Also award for either x ory
: : coordinate correct
(3.1) Al

Total 8 marks
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Question | Working Answer | Mark Notes
a 3. 1| Bl
b Plotted 1|8l
2

3

Suitable point

BY foreg(.-2).(3.9)

(B for C plotted correctly but
coordinates written incorrectly)

Total 4 marks





image36.jpeg
Question ‘Working Answer | Mark Notes
=) T [Bl cao
a
b ‘Shape drawn with vertices (=3, 1) T [Bl co
(CL-1) (14
< 3o’ 2 [B2 for3em’

Bl for 3 : Bl for cm’®

If lengths seen in mm.
Allow BI for 300; BI for
oo’

Total 4 marks
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Question ‘Working Mark Notes
4 | B4 Fora corect line betweenx =
x[2]-1]0]1 —2andx=4
y[10]8 J6]4

B3

For a correct straight line
segment through at least 3 of
(-2.10) (-1.8) (0. 6) (1. 4) 2
2G.0)(.-2)

OR forall of (2, 10) (-1, 8) (0.
6)(1.4) 2.2 (.0) 4. -2)
plotted but not joined

For at least 2 correct points
plotted

BI

For at least 2 correct points
stated (may be in a table) OR

for a line drawn with a negative
‘gradient through (0. 6) OR
a line with gradient =2

Total 4 marks.
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Working Answer Mark Notes

(2~4)(-1-1)(0. | Correct line 4 | B4 Foracorect line between
2)(1.5)2.8) between x 2andx=3
(3. 11)(4. 14) andx=4

=

B3 For a correct line through at least
3 of (-2.-4)(-1.-1)(0. 2)
8)(3. 11)(4. 14) OR for

(1. 5)(2. 8)(3. 11)(4. 14) plotted
but not joined

B2 For at least 2 correct points
plotted OR for a line drawn with a
positive gradient through (0.2) and
a clear attempt to use a gradient of
3

B

For at least 2 correct points stated
(may be in a table) OR For a line
drawn with a positive gradient
through (0. 2) or for a line with
the correct gradient. NB a line
joining

(0. 2) to (3. 0) scores BO

Total 4 marks
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Q ‘Working Answer Mark Notes
@ ) 1| Bl

(®) pomtploted | 1 | Bl _Unambiguous

© ¥=3dmwn | 1 | Bl Minimum 2 cmlong

Total 3 marks
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Question ‘Working Answer | Mark Notes
@ ® G.1 T_[BI
@) G1) D
®) D(.3)maked | 1 | BI Condone omission of D if
unambiguous
© 2 Mo 1
ForZor - oeor
T2
a clear attempt to work
oup Cistancep
distance along
(condone omission of
negative sign)
1 AT oe
2

Tot

marks
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Working Notes
B4 Foracomect line

x —1]o [1 [2]3 between x=-2 and x

y s |-s[2[1]4 =3

B3 Fora corect straight
line segment through
atleast 3 of

(=2.-11) (-1.-8)
.=5)(1,-2) (2. 1)

for all of (~2.-11)
(-1.-8) (0. -5) (1.
-2)(2.1)(3.4)
plotted but not joined
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For at least 2 correct
points plotted
(ignore
incorrect
points)

OR

for a line drawn with

a positive gradient

through (0, —5) and

clear intention to use

a gradient of 3

(eg. a line through (0.

~5) and (0.5, -2)





